
Unit 4 SAC 1B – Assessment Task B

Suggested Solutions:

Question TWO
a
In the Australian industrial relations system, trade unions are the organisation formed to represent and protect the rights of workers/employees in a particular industry. They will act to represent and negotiate on their behalf during award submissions, collective bargaining or during an industrial dispute. The union is represented in the workplace by a worker nominated as a union representative, supported by the actual trade union which operates external to the organisation.  The employer is provided advice and support by a range of employer associations. They can take the form of industry associations, such as Master Builders’ Association, professional associations, such as Australian Medical Association or broad-based peak bodies such as Victorian Employers Chamber of Commerce and Industry (VECCI).


Difference – the parties they represent, i.e. one the worker, the other the employer.

b
Work to rule occurs when workers refuse to do anything more than the bare minimum required and follow every rule to the letter. A strike occurs when employees withdraw their labour and production ceases. 


Differences – when working to rule workers are still at work, production continues however less productively, whereas with a strike workers have completely within drawn their labour, they are not at work and there is no work taking place at the workplace. Strike is a more disruptive form of industrial action.  

c
A collective agreement is the document which sets out the negotiated pay (remuneration) and working conditions that occurs at a workplace. The conditions of the agreement have been arrived at through negotiations and discussions between the employer and the employees (collectively). The conditions negotiated will apply to the collective group of employees and incorporate the required 10 National Employment Standards.  An industry wide (modern) award sets out the minimum pay and working conditions for employees working within a specific industry.  These awards combine the 10 National Employment Standards to provide a safety net of basic employment conditions for all employees.  Modern awards came into force in January 2010 and are to be reviewed by Fair Work Australia every four years.


Differences – one relates to the workplace, the other to the industry, one to decentralised wage determination, the other to centralised wage determination.
Marking guide

One mark for each description for the selected pair one mark for identifying major difference(s).
Question THREE
Any three skills from the following list including a key characteristic:

•
Technical (HR)

•
Communication

•
Negotiation

•
Decision making/problem solving

•
Time management

•
Teamwork

•
Emotional intelligence

Marking guide

One mark for each correctly identified skill.

Question FOUR
a
 The advantages for Kingtown Hospital’s management using the modern award are:


•
that this centralised waging fixing system is a less time consuming approach to pay and working conditions as a centralised body has already determined what the hospital needs to pay or provide employees

•
that any forms of industrial action being contemplated by the employees due to differences in pay and working conditions should be lessened as the award covers an entire industry


•
stability and predictability would be increased for workers as there is only one set of rules and procedures which applies to all hospitals adopting this award, so reducing comparisons.


The disadvantages of the Kingtown Hospital management using modern awards include:


•
this system being less flexible with the same wages and working conditions applying to all employees working in the nursing industry, regardless of the needs of the particular workplace


•
that it is not as easy to recognise and reward contributions of individual employees or work teams

•
that management cannot build in its objective of productivity gains, nor employees their desire for improved pay and working conditions

•
that due to the centralised determination of wages and conditions, there is less incentive for adopting a participative approach to management as decisions relating to wages, working conditions, flexible work practices have been removed from the individual workplace.
Marking guide

One mark for each advantage identified, one mark for each disadvantage identified.

QUESTION FOUR B
b
Work to rule will occur when the nursing staff refuse to do anything more than the bare minimum required of them in their role and ensure that they literally follow every rule relating to their work practices. 

A stop work meeting would mean that the nurses hold a meeting during their normal working hours to discuss this issue. All nursing duties would cease during the period of the meeting.


If nurses were to form a picket line, it would mean that they are undertaking a physical demonstration outside the hospital. Its aim is to stop production (nursing activities) from continuing.


A strike is the ultimate form of industrial action where the nursing staff would withdraw their labour and all nursing duties would cease at the workplace.


To advance the cause of wanting to negotiate a collective agreement, the best courses of action would be to initially hold a stop work meeting to find out collectively what action the nursing staff wanted to take, deciding how militant they wish to be. Adopting work to rule tactics would be the least disruptive form, stepping up the level of action to a picket line, followed by a strike if they felt this was the only want to bring management to the negotiating table. 
Marking guide

One mark for each description of industrial action, two marks for evaluation of most appropriate action.

QUESTION FOUR C
d
Management of Kingtown Hospital ultimately may perform a ‘lockout’ of employees taking industrial action. This means that no nursing staff are permitted to enter the hospital to perform their nursing activities. 
Marking guide

One mark for explanation.

PAGE  
4

